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First Geometry Class NEXT Week!

1) Formula and Definition Sheet must cover each chapter (label each chapter on
Sheet! Worth 10 Test Points!

2) Take the Unit | test in Test Booklet!

3) Correct Test and make sure you can do all of the problems!



GeometY Ch.\O

Congtruct o ’\”\f\aY\S\e wrh 3 dillerent \eha—‘r\n sded

MeA gure
EACH SIDE', MEASURE EACH ARGLE -

SIDE A Za
Sioe B Zb
5ipe C ZC

Sum oF INTERIOR ANGLES

Sie C

/




TRIANGLE S0 LenGTH LearmATIONS

) 2 GiveN SIDEA £ el & SIeC
C SieA + SeB > sl
(must b=
ARE THESE Pose1BLE T ANGLES T
=)
L‘l J 7— ) )5 ° -
3,4,67

2,8,10°



LESSON PRACTICE

Describe each triangle according to the sides.

;;:7 A B
Ll
11
A

Describe each triangle according to the angles.

a. 5. 6
40° :
450
[0}
| 2d S6° 38°
49° 86°

7. Can there be an isosceles right triangle?

8. Explain the reason for your answer to #7.

9. Can you have a triangle with sides 5, 7, and 157

10. Can you have a triangle with sides 8,9, and 117
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LESSON PRACTICE 10A

Eill in the blanks.
ent is called a(h) —————

11. Atriangle with only two sides congry

triangle.

ent is called ) N D

with all sides congru

r, all of its R

12. Atriangle
triangle.

13. Ifa triangle is equiangul
have the same measure.

h all of its angles greater than 0°

14. Atriangle wit
90° is a(n)

and less than

15. Atriang

triangle.

des congruent is called Ao gE TN P =

16. A triangle with no si

triangle.
eina triangle is equal to 90°, the triangle is a(n)

17. Ifone ang!
triangle.

IR

uct each of the following trian
cessary.

ch angle.

gles and label the size of ea

Constr
Use another paper if ne
19. acute triangle.

18. right triangle.

20. isosceles triangle.



LESSON PRACTICE

Plot the points, draw a line to connect them, and find the slope—intercept

formula for the line.

Y Y
TT T T ATT A T

< > X < —> X
. ¥l Lol ] . 1 Y | |

1. (-4, -6), (4, 0)

Y =

Plot the points and draw the line.
of the equation of the line.

3. (-3,-2), (4, -2)

N o
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2o (2;2)4,5

Y =

Find the slope—intercept form and the standard form
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LESSON PRACTICE 98B

4. (0) 2)) (61 —6)

5- (_3) 6)! (O! 0)

6. (3,5,3,-1)
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LESSON PRACTICE 9B

Follow the directions for each graph.

7. Plot the points (2, 0) and (4, -3).

8. Make a right triangle and
determine the slope. L1 |

9. Estimate the intercept by
extending the line until it
intercepts the Y-axis.

A
Y
>

10. Describe the new line using S N S I [ [ B
the slope-intercept formula.

11. Which of the following lines are parallel to the line you drew? Put
each equation into the slope-intercept form before answering.

A. 2Y=3X+10
B. 2Y-3X=-4

C. 2Y+3X=0

12. Draw a line that is parallel to the line described in #10, and that
passes through the point (2, -5).

13. Describe the new line using the slope-intercept form
of the equation of a line.

14. Describe the new line with the standard form of the
equation of a line.

ALGEBRA 1 111



LESSON PRACTICE 98B

13

16.

1%

18.

19.

20,

21.

22

112

Plot the points (1, 3) and (-1, -5).

N
Make a right triangle and determine B -—fg 4t
the slope. N I S N N [ N LN S
Estimate the intercept by extending A - > X
the line until it intercepts the Y-axis. I B N N N N N A
Describe the new line using T T
the slope-intercept formula. 7 ‘; 5 i i i

Which of the following lines is parallel to Y = 3/2 X - 27
A. 2Y=-5X-4
B. 3Y=06X

C. 4Y=6X+4

Draw a line that is parallel to the line described in #18 that passes through
the point (0, 3).

Describe the new line using the slope-intercept form of the equation
of a line.

Describe the new line with the standard form of the equation of a line.

ALGEBRA 1



SYSTEMATIC REVIEW

1. Plot the points (2, 6) and (-1, 3).

2. Make a right triangle and - % S
determine the slope. I e L I |

3. Estimate the intercept by ‘ Ll
extending the line until it |
intercepts the Y-axis. 1 T | T ‘

4. Describe the line using the — T
slope-intercept form, and then N N A S . | |
give the standard form of the | B I I —
equation of a line. ||

q a . - — 4 + H.‘ -

5. Which of the following lines is parallel to Y = -X + 27
A, 2Y=-2X-2
B. 3Y=4X+1

C. 5Y=-5X

6. Draw a line that is parallel to the line described in #4 while passing
through the point (2, 2).

7. What will be the slope of a line parallel to Y = 2X - 47

8. What will be the slope of a line parallel to 4Y = -12X - 4?

9. Rewrite as the standard form of the equation of aline:Y-3=1/3X-1.

10. Rewrite using the slope-intercept form: 2Y + 3X = 1.

ALGEBRA 1 SYSTEMATIC REVIEW 9C



SYSTEMATIC REVIEW 9C

Simplify and solve for the unknown.

1. B=11%x2 =16 - 7 =3V -4¥ 39

13. 3(A-4)-5QR2A-6)=21

Simplify.
15. -62 - (-6)2 =

1Z: ~I~(-7)] =

QUICK REVIEW

1.2,

14.

16.

18.

3-5°2+]6-4]-X=3X

4 1
1 +5A-2
5+5-(-7)=
(-8)% =

‘ To find the percent of a number, change the percent to a decimal and multiply.

EXAMPLE  Shipping is 8%. What will it cost to ship a package

worth $25.50?

8% is the same as .08.

25.50 x .08 = $2.04 cost of shipping

19. Mr. Brown gets a profit of 25% of the total (retail) cost of each item
he sells. What is his profit on an item that sells for $76.98? Round
your answer to the nearest hundredth.

20. Forty-five percent of the people had brown eyes. If there were 600

people, how many had brown eyes?

114
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SYSTEMATIC REVIEW

—

. Plot the points (5, 1) and (-1, -5).

2. Make a right triangle and determine the slope.

3. Estimate the intercept by
extending the line until it
intercepts the Y-axis.

4. Describe the line using the Y

slope-intercept form, and then , : Y

\
give the standard form of the | | l L1
equation of a line.

5. Which of the following lines is N
paralleltoY =1/4 X - 3? [

A 2Y=1/3X+2

B. 4Y =4X+3 |

C. 3Y=3/4X+6

6. Draw a line that is parallel to Y = 1/4 X - 3 while passing
through the point (0, -1).

7. Describe the new line using the slope-intercept form.

8. What will be the slope of a line parallel to 3Y = -6X + 9?

9. Rewrite in the standard form of the equation of a line: Y = 2X + 5.

10. Rewrite using the slope-intercept form: 4Y + 2X = 8.

ALGEBRA 1 SYSTEMATIC REVIEW 9D
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SYSTEMATIC REVIEW 9D

Simplify and solve for the unknown.

=T =10 -1 P2 C1)2 4Bty =

12. 3+5)2+(8-17 | +Z=4@z-2)

13. 5(B-6)+4(2B+7) =102 14. 55Q-30Q =125
Simplify.
15 {-[-(-8)1}

16. -92 =

17. ~(-4) = 18. 324 (-3)2 =

ged his money for U.S. dollars at
an exchange rate of 76%. |f he exchanged $200, how much did he receive
in U.S. funds? (Find 76% of 200.)

20. WF x 8 = 2 (Check your answer by multiplying.)
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